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1) 

x
4
 – 4 x

3
 + 2 x

2
 + 5 x – 4  

 

¿1 es raíz del polinomio? si 

 

1
4
 – 4 . 1

3
 + 2 . 1

2
 + 5 . 1 – 4 = 1 – 4 + 2 + 5 – 4 = 0 

 

04131

41311

45241

−−

−−

−−

 

 

¿-3 es raíz del polinomio? No 

 

(-3)
4
 – 4 . (-3)

3
 + 2 . (-3)

2
 + 5 . (-3) – 4 = 188 

 

188642371

192692133

45241

−−

−−−

−−

 

 

2)  

P(x) = ( x – 2 ) ( x + 5 ) ( x – 6 ) 

 

P(0) = ( 0 – 2 ) ( 0 + 5 ) ( 0 – 6 ) = 60 

 

P(2) = ( 2 – 2 ) ( 2 + 5 ) ( 2 – 6 ) = 0 

 

P(-5) = ( -5 – 2 ) ( -5 + 5 ) ( -5 – 6 ) = 0 

 

P(6) = 0 

 

Sus raíces son: -5, 2 y 6. 

 

3)  

Escribe un polinomio cuyas raíces sean 2, -2 y 3. 

 

P(x) = ( x – 2 ) ( x + 2 ) ( x – 3 ) = ( x
2
 – 4 ) ( x – 3 ) = 12x4x3x

23
+−−  


